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First, oo is constant at any observation point (position). If a set of real numbers is R, then On the
other hand, when x (£ R)is taken on a number line, the absolute value X becomes larger toward =+ oo
as the absolute value X is expanded. Similarly, as the size decreases, the absolute value X decreases

toward 0. Furthermore, X (-1) represents the reversal of the direction of the axis. Second, from the

definition of napier number e.
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2. Equation

-1 = a T 2 5
0 0 -6 -3 0 3 6
1 1 1
T T Ee Tz
+=2

[if[oc =0OD =¢(. r =¢, pointC = point D)] [if[AC =BD =¢]

1 1 .
r=—=—"=+e(=
7T Fe =)

barberpolesystem

LY oY

K%
W

Ty TS

Bl

oo atan
s

EEA
D 6K

%§§>ﬁ%



3. Consideration

R (o) = oo, Rot (£20) = oo, (D (on) 2 Fo0 (-D)elon)= L

Here, from R x (£o0) = to0

(£00)? i = +o0
“R=(40)-i=(-2)-2=-4=1

sa"=a"™"(-R=1)

4. Numbers by Definition

Inl)=0

In(2) =In(—e)=In(-)+1=ir+1=-2+1=-1
In(3) =In(-2) =In(e) =1

In(4) = In(e?) =2

In(5) = In(0) = In(L/+ ) =In(L/-2) =In(e ™) = -1
In(6) =In(2)+In(3) =0

In(7) =In(2) =-1

In(8) =In(4) +In(2) =1

In(9) =In(3) +In(3) =2

In(10) =In(2) +In(5) = -2

In(11) =In@2) =0

In(12) =In(4) +In(3) =3

In(13) =In(3) =1

In(14) =In(7) +1In(2) = -2

In(15) =In(5)+In(3) =0

In(16) =4In(2) =-4=1

'I.n'(32) = In(16) +In(2) =1-1=0 = In(L)



5. Riemann hypothesis
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6. Aexpression for =«




7. Quaternion

|2:j2:k2:ijk:_l
[ Proof]
=2 j=3 i2=4-_1
1 -
k:4(-.'42:43:64:4j = |jP=9-4--1
k?=64=4=-1
ijk=2x3x4=24=4=-1
8. Application to Physics
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9. Big Bang Model established in 2013
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10.  Conclusion
Now that "cosmic annihilation" has become a truth in my No. 26, "Big Bang Model
Established in 2013," | believe that nuclear weapons are the only tool humanity has to
prevent cosmic annihilation. On a global scale, nuclear weapons are useless, but if humanity
gives them up, our extinction is already assured by cosmic annihilation. In short, humanity
must recognize the inhumanity of nuclear weapons and continue to face them rationally and
logically. | hope that my research so far will contribute to preventing the annihilation of the
universe.



